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QUESTION 1

Click the Exhibit button.

CASE rating
WWHER 1 THEN
UFPDATE employee
Sk salary = salary ™ 1.1U
WHERE empno =v_employee_number,
YWHER 2 THEN
UFDATE employee
SET salary = salary ™ 1.05
YWHERE empno =+ _employee_number;
ELSE
UPDATL employee
SET salary = salary ™ 1.03
YWHERE empno =+ _employee_number;
EMD CASE,

Which statement is true about the CASE statement shown in the exhibit?
A. An employee with a rating of 1 receives a 10% salary increase.

B. An employee with a rating of 3 receives no salary increase.

C. An employee with a rating of 2 receives a 3%salary increase.

D. All employees will receive at least a 5% salary increase.

Correct Answer: A

QUESTION 2

Click on the Exhibit button.
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CREATE TYPE phonenumbers AS VARCHAR(12)
ARRAY[1000]

CREATE PROCEDURE find_customzrs( I numbers_in
phonenumbers,
IN area_code
CHAR(F],
QOUT numbers_out
phonenumbers)
BESIN
D=CLARE i, |, max INTEGER,
SETi=1,
SET =1,
SET numbers out= KMULL,
Sk max = CARUINALL Y (numbers_ing;

WHILE | <= max DO
IF SLUBSTRE{numbers_infi], 1, 3) = area_code THEN
SET numbers_cut[|]] = numbers_in[i];
SETj=]+1;
ErMD IF,
=ET [514:1;
END YWHILE,
EMD

Referring to the exhibit, what is the OUT_PHONENUMBERS result set when the SQL procedure is invoked by the call
statement shown below?

CALLfind_customers(ARRAY[?16-305-37457

?05-416-4565?

?16-305-37467?

\\'905-414-4566\\1,

?167?)

A. [?16-305-3745??05-416-4565? ?16-305-3746\\]

B. [?16-305-3745?7?05-416-4565? ?16-305-3746? \\'905-414-4566\\'
C. [?05-416-4565? \\'905-414-4566\\

D. [?16-305-3745? ?16-305-3746[?16-305-3745? ?16-305-37467?

Correct Answer: D

QUESTION 3
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Which of the following is the simplest way to define a recordwith fields corresponding to all of the columns that are
fetched from a cursor or cursor variable?

A. Using the VARRAY attribute

B. Using the READ FROM CURSOR attribute
C. Using the %ROWTYPE attribute

D. Using the %CURSOR attribute

Correct Answer: C

QUESTION 4

Which of the following statements is true for declared global temporary tables?

A. Declared global temporary table descriptions are stored in the system catalog

B. When a session terminates, all declared global temporary tables created in the session are dropped.
C. Declared global temporary tables are persistent and can be shared with multiple sessions.

D. Declared temporary tables support LONG VARCHAR columns.

Correct Answer: B

QUESTION 5

When you right-click a SQL procedure in the Data Source Explorer of IBM Data Studio and select Drop from the options
menu, what happens?

A. The SQL procedure is temporarily hidden in the Data Source Explorer view.

B. The SQL procedure is removed from the data development project.

C. The SQL procedure is dropped from the database.

D. The SQL procedure is dropped from the database and removed from the data development project.

Correct Answer: C
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